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QUESTION 1

Which three Hadoop distributions are supported on Oracle Cloud Infrastructure (OCI)?
A. Pivotal EMC

B. Apache Hadoop

C. Hortonworks

D. MapR

E. Cloudera

Correct Answer: BCE

QUESTION 2

A customer has a Spark workload they are considering moving to Oracle Cloud Infrastructure (OCI). What option should
they consider?

A. Oracle Data Flow

B. Self-managed Hadoop deployment
C. Self-managed Spark deployment
D. Big Data Service

Correct Answer: A

QUESTION 3
Compute nodes are on subnet2(172.16.1.0/24) and there is a BM.Dense.l02.8 on subnetl.

(1/2.16.0.0/24) that will serve as a bastion, file server and license server. The bastion will be accessed through a public
IP with SSH.

Which security lists should you choose for an HPC cluster? If multiple options are possible, choose the one limiting
access the most.

A. Subnetl: 0.0.0.0 for all TCP/UDP ports, subnet2: 172.16.0.0/16 for all TCP/UDP ports
B. Subnetl: 0-0.0.0 for TCP port 22, subnet 1 and 2: 172.16.0.0/23 for all TCP/UDP ports
C. Subnetl: 172.16-1.0/24 for port 22, subnet2: 172.16.1.0/24 for all TCP/UDP ports

D. Subnetl: 0-0.0.0 for TCP port 22, subnet 2: 172.16.0.0/16 for TCP port 22

Correct Answer: C
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QUESTION 4

You are comparing different processors for Monte-Carlo simula-tion with millions of single core executions. What
frequency will have the highest impact on the "time to solution" ?

A. All Core Turbo Frequency

B. Base Frequency

C. Only the network throughput will influence Monte Carlo simula-tions.
D. Turbo Frequency

Correct Answer: D

QUESTION 5

Which statement Is correct about deleting an Instance Pool?

A. Nothing will be deleted.

B. Instances and boot volumes will be deleted.

C. Associated Instances and attached boot volumes will be deleted; block volumes will be detached.
D. Instances and block volumes will be deleted.

E. Only the Instances will be deleted.

Correct Answer: C
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